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™ Christmas Multiplication g

Use column multiplication to solve the equations, match
the letters and answer the question!

S 88 E 74 L 63 O 67
; x 5 x 9 X 9
Y 94 T 29 M 38
x 6 x 8
N

&

1! R 64 A 92 D

X 3 x 6 X

What did one snowman say to the other?

%

f 352 603 564 603 182 616 228 370 567 567

SR
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260 552 192 192 603 232 616
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] Answers

G S R N

S 88
5 x 7/
i; 616
d U 26
| x 7
182
1 ¢ o5
|1 x 4
1 260

U5 OF SS

What did one snowman say to the other?

D O
352 603

cC A
260 552

R R

E 74
X b
370

Y 94
X 6
564

R 64
X 3
192

Y O
564 603
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L 63
X 9
h67

T 29
X 8
232

S M
616 228 370 567 567

O T s7?
192 192 603 232 616

™ Christmas Multiplication g

Use column multiplication to solve the equations, match
the letters and answer the question!

O

E



